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%—7%., CADCD CABDC ABADA BBCDB
% —%. CBDCC ACADB AABBA CADAD
% =%, CBABD BCDDC ADDDC DBBBB
%5JU%. DBDCB ACDDB DCCCD DBBAA
% F.%. DBABB CCACD DCCAA CDBCB
%57v%. DBDAD An=4CBD DBBBC DCDDC
-t #. CDBCA CCABC DBACC DBCAC
%5 J\#. BACCA DACDA ABADD ABCDD
%5 /L. ADBCC BBCAD ADDDB BABDD
%1%, DCCDB CDBBA BDDDB BADCD

. TR R
BB
1. 6.0
2. x=8
3. 25
4. a=5, b=5
5. 2,3

1. 0422

2. 6 5 4 3 2 1 7 8 910
3. 8,17

4, 357

5. 703 537

1. m=10

2. 6

3. 8542

4. 2

5. 1,2,3,45,8,7,6,5,0,

FUE
1. 56 7 8 95 4 3 21
2. 848

3. 1 2 6 24 120
4. 2,51,2,3, -2
5. >=75>=60<60errror
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2. 10,64
3. 3,4,8
3,4,4
4. The array a:
1 2 3
4 5 6
The array b:
1 4
2 5
3 6
5. sum=1

FNE
1. 0422
2. 6 5 4 3 2 1 7 8 910
3. 8,17
4. sum=10
5. 4252716

1. 6385

2. 633636
3. s=254

4. m=1, n=1
5. ' #

1. 7

2. Iv=0, sv=0, Iv=0, sv=1,
3. 2341

4, a=20

5. -850,2,0

1. CDG

2. 10010

3. 6

4. 838,10

5. 1lbc, a23

1. 11235813213455
2. 012345
3. ihgfedcba
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4., a=20
5. -850,2,0

=, FEFHET
F—E
1. @i<10
2)j%3,j%3!=0
2. MWa,10
@q=p+n-1;p<q;p++,q--
3. M&p->id,p->name,&p->score
@stuli].score>stu[temp].score
(Bstu+temp B¢ &stu[temp]
L
1. j<=n-1 8 j<n
@i<n-j-1 BY, i<=n-j-2
®ali]>ali+1]
@fan(a,10)
2. Mmc<10 me<=9
@k%17==0
@return m
=
1. slil=k
@if((i+1)%5==0)
(3)sum=0.0
@fun2(s,w)
2. (i<=300
@i%7==0
@n%5==0

EIIESS
1. O3
@fib(n-1)+fib(n-2)
32
2. OYs[i]>="0'&&s][i]<="9’)
@n++
3. @alilli]
@ali][N-1-i]

FhE

1. Di<=999
2i%13==0
@i++
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2. M1.0/n

@n++
3. Di%3==2&&i%5==3&&i%7==2

2)i%5==0

FNE

1. Dik=101
@i*]
Bj=j

2. Mic=x-1
@x%i==0
@i++
@1t

FLE

1. M&ali]
@ali]=a[N-1-i]
(®a[N-1-i]=t
@i<N

2. M&ali]
@ali]>0

(Bcount++

FINE

1. Qj=0;j<i;j++
@t=alilljl;alilljl=aljlli];aljl[i]=t
(j=0;j<3;j++

2. strli]-a’+A’'(+32)
@i++

3. Ws[i]="\0’
@return i

FLE

1. Qj<i
@t=ali](j]
alil(j]=aljli]

2. M&num1,&num2
@numl==num2
(B)ch="s’

@num1%c num2

e
1. M*x=*y
@*y=t
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®&a,&b
2. (Us=0.0
@i=1
@)((2*i-1)*(2*i+1))
@return s

PO, el (2 5Rms)

HIBE UFRMY a5 TR 5




